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Math 3 Name

Unit 2 Day 3 noteshs
When a polynomial is in standard form, the degree = M&M @n+
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degree = la leading coefficient = _5 sign of leading coefficient = —
When a polynomial is in factored form, the degree = QMM ’I—D J C‘H’\W
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The end behavior depends on whether tléevdegree is even/odd and the leading coefficient is positive/negative.
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*When the degree is ODD, the graph look like:
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*To determine if the polynomial is +/-, just look at the right-hand end behavior. (x — )

@\B\’ﬂ If the right-hand side is pointing up, then it is POSITIVE. LC Uead?

If the right-hand side is pointing down, then it is NEGATIVE. _ L C co
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*The left-hand side is determined by the even/odd. (x — —)

ﬁ'{ If it is even, the branches go in the same direction. (both up or both down).

If it is odd, the branches go in opposite directions.(one is up and the other is down).
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If the multiplicity = 1, then 11
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If the multiplicity = 2 (or any even value), then the graph will
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If the multiplicity = 3 (or any odd greater than 3), then the graph will
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Decide whether the graphs are even/odd; positive/negative; what the roots are; and the multiplicity of each root.
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